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T gl = e~ (Bj coswt + By sinwt)
(a? — w?)e “(By coswt 4+ By sinwt) — 2awe” ! (—By sinwt + By cos wt)
— 2yae” (B coswt + By sinwt) + 2ywe ' (— By sinwt + By coswt)

+ wie “(By coswt + Bysinwt) = (Fy/m)e” ' cos wt

(o — w?)(Bj coswt + Bysinwt) — 2aw(— By sinwt + By cos wt)
— 2ya(Bj coswt + By sinwt) 4+ 2yw(— By sinwt + By coswt)
+ wd(By coswt + By sinwt) = (Fy/m) cos wt + 0sin wt

(@? —w? + w3 — 2va) B — 2w(a —v)By = Fy/m

2w(a — ¥)B1 + (@ —w? + w} — 27a)By = 0

YIS Voo g



\YFINY

b Sl s
O-dlis

—t coswt

E
42y +wiz = e
m

T = e (B coswt + By sinwt)

(@? —w? + w2 — 2va) B — 2w(a — v)By = Fy/m
2w(a —¥)B1 + (@ —w? + wi — 27a)By = 0
(Fo/m)(a? — w? + w2 — 2va)
(a2 — w? + wi — 27a)? + 42 (a — 7)?

—(Fo/m)2y(a — )
(a2 — w? 4+ w? — 27a)? + 4y2(a — 7)2

B =

By =

Togat = Be ™ cos(wt + ¢)

Vfoo ge



b Sl s
O-dlivs

—t coswt

F
5U'+2'yd:+w§x: e
m

Loganl = e~ (B coswt + By sinwt)
(Fo/m)(? — w® + wj — 27a)
(a2 — w? +wj — 270)? + 472 (o — )

—(Fo/m)2y(a — )
(a2 — w? +wf — 270)? + 472 (a — )2

By =

By =

T gl = Be cos(wt + ¢)

(Fo/m)
V(0? —w? +wf = 290)? + 4% (0 = 7)?

B= 2y(a =)

,tan ¢ =

a? —w? +wj — 270

\YZ/ANA Voo e



ARFAAREY

b Sl s

. -l
42y +wiz = et coswt
Oio.b\} S g\f
T.g. = Be™ tcos(wt + @)
B (Fo/m)
V(a2 —w? + w? — 27a)? + 492 (a — v)2
2 _
b= tan—! ’Y(a 2'7)
a? —w? + wi — 2y
=¥ <l
v > wo sl <
z(t) = e (APt 4+ Age™PY) + Be cos(wt +¢)
=PV —wi s

7:w06|j<

Voo g

z(t) = e (A1 + Ast) + Be ™ cos(wt + ¢)




\Y#/A\Ye

b Sl s

O—dlics
. . 2 FO —at
T+ 29 +wjx = e cos wt
g = Be™ cos(wt + )
o (Fa/m)
V(02 —w? + w? — 27a)? + 492 (a — v)2
2o —
¢ — ta’nfl ’Y(O[ 27)
a? —w? +wj — 2va
s <l
Y <woglx<

Ts.(t) =¢ “(Aq coswgt + Agsinwgt) + Be™* cos(wt + ¢)

wi= VS

Vfoo ge



b Sl s
() 4:.]}‘ C»&Jw LJ ‘f&)‘ mUS L;j} @‘J:u ‘J:.o Jia‘.«ay t-ii II;'(t) C»\Sf dsles ;—415...»»
el S "“56" C,S):Q&j)i Fo sinwt <ilsly 59,0 S L3806 Cos
Fi
&+ 2vi 4+ wiz = =0 sinwt
m

sl Lol

v = wo Sl sl
Togm = e "(Ay + Ast)
Sl Cand ool Ol
Tgut = Bj coswt 4+ By sin wt
T g, = w(—Bisinwt + B coswt)
T gl = —w? (B1 coswt + Basinwt)

A\YFZ/AYN Voo g



b Sl s

F-din
&+ 2vi 4 wiz = o sinwt
m
sl Lol
z(t=0)=0, v(t=0)=n1
Sl Zuand (ol Ol

Tgut = Bj coswt + By sin wt
T g, = w(—Bisinwt + By coswt)
T gl = —w?(Bj coswt + By sinwt)

Fy
e+ 2V e 20 ¢ = —sinwt
Tog,b T 272 2 T WHT 2,0 msmw

F
(wi —w?)(By cos wt+ By sin wt) +2yw(— By sinwt + By cos wt) = =Y sinwt
m

\YFIAYY Voo g



b Sl s

F-din
&+ 2vi 4 wiz = o sinwt
m
sl Lol
z(t=0)=0, v(t=0)=n1
Sl Zuand ol Ol

Tgut = Bj coswt + By sin wt

, : Fy .
T.gutt+ 2’733;@3 + wgﬂc&g@\; = poy sin wt
F
(w2 —w?)(By cos wt+ By sinwt) +2yw(— By sinwt -+ By coswt) = =Y sinwt
m

(wE — w?)By + 2ywBy =0
—2ywBs + (Wi — w?)By = Fy/m

\YF/AYY Voo e



b Sl s

. F—alivs
&+ 2vi 4 wiz = =0 sinwt
m
NN
z(t=0)=0, v(t=0)=nv
Senl Cand oalginn Ol
T gl = By coswt + By sin wt
(wo —w )Bl 4+ 2ywBy =0
—2ywBy + (W3 — w?)By = Fy/m
B, = —(Fo/m)(2yw) —Fy/m 27w
(Wf — w2 + QP e~ PP T @l e — PP T )
(Fo/m)(wg —w?) Fo/m (w§ — w?)

B = (W3 — w?)?2 + (2yw)? V(wE —w?)? + (29w)? /(wE — w?)? + (2yw)

\YF/IAYY Voo g



\Y£/AYO

b Sl s

F F
&+ 2vi 4 wiz = =0 sinwt
m
sl Lol
z(t=0)=0, v({t=0)=uwvy
wa.bb o 6’% ;‘)\‘,?
T gl = By coswt + By sin wt
B, — _—/m)(2w) B, — (Fo/m)(w§ — w?)
(W2 —w?)? + (29w)" (WF —w?)? + (27w)?
T s = Bsin(wt — ¢)
F 2
B = o/m , tan¢ = 2%}2
V(wg — w?)? + (27w)? wh —w

Vfoo ge



b Sl s

. $-dliva
&+ 2vi 4 wiz = =0 sinwt
m
ol Ll
z(t=0)=0, v(t=0)=nw
=¥ sz
x = e "(Ay + Agt) + Bsin(wt — @)
B— FO/m , tan¢ — %
V(wE — w?)? + (2yw)? Wy —w
ads Lyl Jlas
z(t=0)=0, v(t=0)=n0v
g)

\YFI\YS Voo g



